Year 3 Maths Activity Mat
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3A 3B 3C Total
Boys 15 18 13
Girls 12 15 42
Total 30 28

Complete the table.

r ) r N\ a
Section 1 Section 2 Section 3 Section 4
Draw a number line starting at 385g and count on Calculate the following in your head: Calculate: A farmer has 276 sheep. 139 lambs are
90g. What’s the answer? 232 x 10 = born in the spring. How many sheep are
268 +7 = there now on the farm?
187 + 4 =
\ J \ J
653 +9 =
" v °
Section 7
. f R What measurements are the arrows pointing to? Record the measurement to the
seCtlon 5 seCtlon 6 nearest millimetre. A
Write the following numbers in digits in order from Calculate the perimeter of these A B C
smallest to largest: rectangles: l l l
B =
621 Aem M
216 (not to scale) | 5cm petes C=
162
226 Section 8
166 12em Here is a table showing the number of boys and girls in each year group:
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Year 3 Maths Activity Mat: 5

Answers
r r )
Section 1 Section 2 Section 3 Section 4
Draw a number line starting at 385g and count on Calculate the following in your head: Calculate: A farmer has 276 sheep. 139 lambs are
90g. What’s the answer? 232 x 10 = 2320 born in the spring. How many sheep are
268 +7 = 275 there now on the farm?
187 + 4 = 191 415
\ J
475¢g 653 +9 = 662
) Section 7
. f R ) What measurements are the arrows pointing to? Record the measurement to the
SeCtlon. 5 seCtlon 6 nearest millimetre. A 4
Write the following numbers in digits in order from Calculate the perimeter of these A B C mm
smallest to largest: rectangles: l l l
9 B=122mm
621 ik M
216 (not to scale) | 5cm petes C=136mm
162
28cm g . A
226 Section 8
166 12em Here is a table showing the number of boys and girls in each year group:
0 3A 3B 3C Total
(not to scale) cm
162 | 166 | 216 | 226 | 621 1o Boys | 15 18 13 46
Girls 15 12 15 42
Total 30 30 28 88
44cm
Complete the table.
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